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_ Booklet A

~ Questions: 1 to 10 car:y 1 mark each.’ Questlons 11 to 15 cary 2 marks each
For-edch question, four optlons are givén. One of them is the correct answer. :
Make your choice (1, 2, 3 or 4) Shade the correct oval. (1 2,3 o7 4) on the Opbcal '

Answer Sheet. ‘ . - (20 marks)

1. Whatisthe va!ue of.the dtglt 3in 284.037
| (‘i-)' © 3tens
(2 3fenths
(3) 3 hundreds
4) 3 hundredths

2. Rbgnd off 596 481 to the_'neérest ten thousands:

(1) 500000
@) 590000
(3). 600000
(4) 610000

3. Which of the following numbers has the greatest value?

M 17
@ 172
@) 1702
@ 1724

4.  Findthevalue of 8 + {8 +20):4-2+9.
4

@ 18
® 22
4@ 27

5, Express 12 seconds as a percentage of 2 minutes.

) 6%

2  10%
3 12%
@)  20%
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8. A meetmg started at 9. 35 am. ~and ended at 11; 15a. m How fong did the.
i meetlng last?. S .

{1y 1h10min
@ 1h40min.

@) 2hi0min -
@ 2h40min .

7. . What is the value of the number that is represented on the piace value table
. below’?

Ten Thousands | Thousends | Findreds | Tens | Ones |

fé_@:: @00 O..OQ @ o9 |

(1) 23112
(2y . 24014
(3) 231014
@) 241014

8.  Josh had $360 left after spending 1. of his money to buy a chair. How much did

he spend on the chair? 6
(1) $60

(2 $72

3) $300

@) $432
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9. . The squares showi below aré identical. Which ohe of the followirig shaded:
' areas is the largest? : : CL _

(1 (@)

(3) @

0. “Rajuhad 7 kg of baking_dbp’Qﬁ;:H’e'cu'tf.it eqt@'a‘lly-inib smaller portions, eécﬁ'
‘weighing % kg, and had some left. How much dough had he left?

. 1

{1} 3 kg

@ ke
<k
2

® 3k
3

@ kg

1. The figure shows three identical squares: ABCD, BEFG and HJKB. What is the

value of ZGBK?
(1) 32°
(@ 9
(3) 54
(4) 58°
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R P W X Y and Zhave been marked ofia p;ece of string as shown below The ratio
' ofthe Iength of WX to the iength of XY is2: 1 “The ratio of the length of WY to
. the length of YZ is 2 : 5. What s the ratio of the Iength of XY to that of YZ?

- (1')'

{2
(O
Q)

1 23

115
2:11
2:15

13. 5 umbrellas and 5 purses cost $100 Each umbrella cost 50% more than each .
' purse. What is the cost of each umbrella?

(1}

@
@)
@

$8

$10.
$12

%156

14. . Lynn sold 1 of her cupcakes on Saturday and = of the remainder on Sunday. If

-'she sold 40 more cupcakes on Sunday than on Saturday, how- many cupcakes
. did she sell altogether? _

A1)

2
3
()

140
240
440
600

% .45, The figure below shows 3 overiappmg identical trtang!es If the area of each big
© triangle is 80 cm? and the area of the figure is 210 em?, find the area of the

shaded tnang!e
(1 10 cn?
2 15em?
(3) 30cm?
{4y 45cm?
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.;Boqlf_let_g . ) P A - . | ponsivitein
Name:_: __ R O ) Class PGSYICIG!SEIP | 1is oo

Questions 16 to 25 carry 1 mark each Write' your answers in, the spaces provided.
For questlons whlch requ:re units, gtve your answers in the umts stated. (10 marks)

_ 16 Wha{t is the length of the ;f)_éncil as. sho_wn 'ih:me'diégrém ‘béiéw?"

Gem 1. 2 3. 4

IIHIIHI|IHJ|IIII|HII|

Ans: cm

17. 11~ =927

What is the missing number in the box?

18. 57 - 1000= = 10
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19, - Express %‘a‘é a decimal.correct 102 deéimal places.

 Ans:.

20 "Outof 60 pupils who participated in a bowling competition, 24 of them were
' _ boys. What is the ratio of the number-of boys to the number of girls who -
* participated in the'competition? (Express your answer in the simplest form) -

Ans: :

21.  The figure below is made up of a friangle and a trapezium. Find the sum of alf
- the unknown marked angles in the figure.

S | _:,.
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22 f- : -Réfer’_fo the square grid below and answer the foflowing question.

PR

In what direction is Point Q from Point R?

Ans:

23. _ Asetof 2 pairs of socks costs $7.50. How much must James pay if he buys - .

6 pairs of socks?

Ans: §
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_ ’ Da nott\mte in
'24.  How many more ovals must be shaded such that the percentage of shaded : “S-.“‘f’”“"‘
ovals becomes 70% of the tetal’?

Ans:_

25. A number, when divided by 7, .gives a quotient of 11 and a remainder of 4.
What is this number?
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Questions 26 to 30 carry 2 marks éach. Show your workmg c!ear[y inthe space
foreach questlon and write your-answers in the spaces provided.: -
For questlons which requure units, give: your answers inthe unlts sfated (10 marks}

26 % of the balls in Box A'and %‘of‘the balls'in Box B are red'-'The' two boi{eé have |
the same: number of red ba!ls What is the ratlo of the number of bails in-Box Ato } |
the number of balls in Box B? -

Ans:_
27. The average mass.of Ryari, Sue and Tammy, was 62 kg.
Ryan was 15 kg heavier than Sue and Sue was 9 kg lighter than Tammy -
Find the mass of_ the Izghte.s_t child?
Ans: kg

| Do notwrite In
this cohsmn
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. . - » L t?‘c’;;ll-ol\i\-'dl_e!n
.28 Thetable below shows the number of hours spent on tuition by a group of 20 .
childreninaday. U S ' .

{Number of titionhoursiday | 0 | 2 [ .3 | 4
“|Numberofchideen ~ * § 2 [ 7 | 8| 3

What is the average number.of hours spent on fuition each day?

- Ans: . hours -

29. WXYZis a square'with an area of 64 cm2. Given that M is the midpoint of
: XY and N is the midpoint_of ZY, ﬂn,q the area of .the shaded friangle WMN.

W . X

Ans: om?
. - 4
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30. The mass of 2 d[ctlonanes and 3 assessment boaks is 3 85 kg. The mass of 1 o
" dictionary and-2 assessment books is 2.1 kg. Whatis the mass of 1 dlctfonary

and-t assessment book’?

End of Paper 1
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o Questlons 1 to 5 carry 2. marks each, Show your ‘working cleaﬂy in the space below Do notwils in
‘eachrquestion and write your ariswers in the spaces prowded For questions which - | ecdumn

requure unlts gwe your answers in the units stated S (10 marks)

1. There was 3 times as much water i ln Tank A than in Tank B. - After 50¢. of water
was added fo each tank the ratio of the amount of water in Tank A to the
'-ameunt of water in TankBis5:2: How much more water was there in Tank A
. thanj m Tank B? :

| “Ans;:_ £

) ~ The figure below is ndade up of a.quadrant and a semi-circle. Find the perimeter .

. of the shaded figure. (Take n = -273)‘

14 om
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Do not write in
this column

- ’ A group of people recewed free hckets to a mowe There were 10 more children
than adulfs who recsived the tickets. Each-child i is- entitied to2 free fickets while’
each adult is entitled fo 4. If a fotal of 170 frée tlckets ‘were glven out, how' many

adults received the- ilckets?

Ans: _ .

4.  Zarina wanted to buy a pair of shoes but she-only had 2 of the money. After her

mother had given her $8, she was still short of 2 1 of the money. How. much rvore :

-money does she need before she can buy her shoes’?

.Aﬁs: $ ‘ 4
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5 _-Melan:e put 18 sweets 27 sweels, 13 sweets and 106 sweets in four bags AB, e
© CandD respectlvely When she added an equal number of sweets into-each. of

the bags the number of sweets inBagD became the same as the total number
of sweets in'Bags A, B and C: -

- How many sweets were added into. each bag_? '
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'For questlons 6 fo 18 show your mkag cleariy 1n the space below each queshon

and write your answers in the spacgs provided.: The number: of marks awarded-is .

- shownin brackets [ ] atthe end of each qu%ton or part queshon {50 marks)

6. The followmg ﬁgure is. made up of 4 |denhcal reciangles anda shaded rectangle
The length of BC is 14 cm If the area of the shaded part is 21 cmz whatisthe |

length of EB?

Ar E B
D c
- Ans: ' I3]
7. A survey was carried out to ﬁnd out the favounte food among a group of people

The pie chart below shows the results of the survey.
The number of people Who like spaghettl is twice the number of those who like
Prawn Noodles. What percentage of the people like spaghetti?

| Prawn
. Noodles
] “15%:
Roii
Prata |
Spaghetti ‘
Ans: [3} _'
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R E The figure below is made up ?f‘TﬁéﬁQlés_ AB_'C and BCD, aid 2_ide_nﬁdai circles. é'&“&m? " A
Y~and-Zareﬂ1eAcéntr.es'df;tl_he_'¢im;ég_'_ S . RN I .
£ DCB =86° £ CAB.= 58 and £ CDB = 547,

Find £ ABD.

FRIvS

Ans: 131 3
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"9 Demi q’sed"c.:;o_ldui'ed beads to 'makefsdr_ﬁé handicrafts. For evléry'S. yellow beads
' that she used, she used 1 green bead. Shealso used 3.red beads for évery 20 . -
yeliow beads used. If she used a total of 216 coloured beads for a piece of.” "1

handicraft, how many of them were green?

. Ans: [3]

10. Joan has some: $5 notes and Sharifah has some $10 notes. The average
amount of money that they have is $3x. if Joan and Shatifah have the same
number of notes, how many $10 notes does Sharifah have? '

Ansi__- '_ I3l

Do nitwrite I
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1. The strtictures below are forined tsing identical solids stacked ontopofeach  |imepme™.
- other. The height of Figuire" is 26 crn when the sofide oo stacked two levels | -

high. It is 35 cm when the sofids are stacked three fevels high, -~ .~ .

(@ How many levels must the solids be stacked in-order for the 'strﬁbtdre to
reach a height of 89 cm?- . - .
(b}  How miany solids are needed to form the structure of height 89 cm?

Level4
Level3 |

Level2: |

sl Levelt |-

Figure 1 . Figure 2 Figure 3

Ans: {a) [3]

PG Math Prelim Paper-2 2013 7



12, Mr Jories had  total of 1448 fiction and non—ﬁction books i his bookstore. He - E,";‘;‘:,L‘f:m‘e o
. sold 80% of the fiction books and 75 % of the non-fiction bocks and found that he S
had 52 more fi ct|on than. non—f ctron books feft. How many non-ﬁction books did

he sell?

Ans: ‘. 3 [4]

13.  Ismail had 258 stamps and Fabian had 186 stamps. Fabian sold twice as many
stamps as lsmail. If fsmiail had twice as many stamps as Fabian after selling
their stamps, how many stamps did Ismail sell?

Ans: | : [4]
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14.  Kiis baked 68 muff ins every day Five days after Kns started bak:ng, Mandy ' ﬁ.%";tmwmm: b

_ started baking 90 muff ing each day How: many muffins had Kns baked when 1.
Mandy had baked 254 more mufﬁns than'Kris? """ -

Ans: o [4] 4
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K 5. The ﬁgure below is made up of ﬂ1ree semt—circles and a mrcle Xis the centre of ,,;,'mm;,'
- the large semi-tircle and WZ is 36 cm. Find the area of the shaded part. . {tiscolumn -
: :(Express your answer in terms of n) '

Ans:__ 4]
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6. .The ﬁgure be[ow shows two identical lanks with the same base Tank A CONtAINS | po notwite o
- watel filled to its bnm while Tank Bis ‘empty. Water dralns from Tank Ainto Tank “ﬁswfumn _
B- for 5 mlnutes at a rate of 440 cmslmm. Aﬂer the tap has been tumed off the 1

depth of water in Tank B becomes = the depth of water in Tank A

a)  Whatis the base area of the Tank AZ.
() ' Howmuch-water s leftin Tank A?.

Tank B

Ans: (a) : [3]

o______ [ Z]
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: ! Do nol wiile in
B TA 8: 30 a.m avan travel!mg at a speed of 50 kmfh Ieft Town A forTown 8. One | T ooumn
Y and d half hours Jater, a car left Town B for Town, At passed the van at a point '
30 km from the rmdpomt betwean Town A and Town B as shown below. The
dlstance between Town Aand TownBis 410 km '

(a) Afterthe first 1= L h how far did the van travel before passnng the car?
(b) Whatisthe speed of the car?

'_ Van

SO it S ‘ Ca_r

Ans: (a) [2]_

) 3]
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18 Mdm ‘Shanti bought — as many chocolates as sweets. She gave each of her m‘;‘m"fﬁ:“

nelghbours chlldren 4 chocolates and 3 sweets, after whlch shie had 6
chocolates and 180 sweets left.

(a)  How many children received the chocolates and sweets?
(b) - How many sweeis did she buy'?

Ans: (a) | i3]

®___ @

End of Paper |
— Please check your work thoroughly —
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Answer

- -~

EXAM PAPER 2013
'SCHOOL : SCGS -~ . - . .
SUBJECT : PRIMARY 6 MATHEMATICS

TERM - : PRELIMINARY -

oL 02105 [ 04 Q5] Q6] 07 [ G808 [Qio

Qi1

o5

Q12| Q13.| Q14

4 |3 |-4-13 ].2 12 2. [ 214 |1 ]2 4 13 13 2
16)3.2cm 17)1.73  18)0.57 19)0.63 20)2:3
21)473° . 22)North-East  23)$22.50 24)4 - 25)81
26)10:9 27)54kg 28)2.5 hotirs  29)24cm2  30)1.75kg
Paper 2
1)10u —9u = 1u

1u>50L

10u—4u = 6u

6u->50L x 6 = 300L

2)Va x 28 X.22/7 =22
Y2x14x22[7 = 22
14 + 22 + 22 = 58cm

3)10x2 =20
170 — 20 = 150
24+4=6
1506 = 25
Adults->25
Children>25 + 10 =35
Ans: 25 adults.

Page 1 to 4

page I


Answer Keys


 4)lusés
| 5u->$8x5 $40.

$w+n+m 58

X+X+X= 3x

58 + 3X .

=106 +_1x S

106 -58 =48 -

3X—1X'=2X

2X>48 -

1X>48+2= 24 sweets
 6)14-3 =11

11+2 =5.5cm

7)100°/o —4 = 25°/o
25% + 150/0 = 40°/o
100% - 0“/0 60%.
i+ 1u=3u
3u>60%. .
1u>60%+3 = 20%
20% x 2 = 40%

8)/CBD->180° —54° —86° = 40°

AC=CB = dlameter
Z/BAC = /ABC = 58°
ZABD->58° —40° = 18°

9)3 + 20 + 4 = 27
216+27 =8

8x4 =32 greeh beads

10)3X x 2 = 6X
$10 + $5 = $15
Ans: (6X/15)

11)a)26 -9 =17
89—-17=72

Levels above 157259 =8
8+1=9

B)L+ 2 + 3+ 4 +......0 =45
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12)52 x 5= 260
. .1448-260 = 1188
- 5u+4u=9u
ou>1188 = |
1u>1188+:9 = 132

3u>132x 3 = 396 non-fiction books: -

- 13)258 — 1X = 2Y

186 — 2X = 1Y ~
. X2
372-4X = 2Y7 ‘

4X —1X = 3X .

372-258 = 114
3X>114

C1X>11453 = 38 stamps.

14)68 x 5 = 340
254 + 340 = 594

90 —68 = 22
59422 = 27
Kris - Mandy '_ . .
27 x 68 = 1836 90 x 27'= 2430

1836 + 340 = 2176
Ans: 2176 mu‘fﬁns.

15)Area of fig> ¥2x 18 x 18 x IT = 162]1
/2% 36 x 18 =324
(16211 -324 ) +-2=81I] - 162
(20.25]1 - 40. 5)x 2 = 40.5II - 81
(8111 - 162) (40.511 - 81)
Ans: (81]I- 162)cm2

16)a)440 x 5 = 2200
2200 x 2 = 4400
4400 + 2200 = 6600
660030 = 220cms

b)2200 x 2 = 4400cms
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17)a)50 x 1.5=75
v A10+2=205
205 + 30 =235
‘410 —235 = 175
175 —75 = 100km"

b)100+50 =2
235+2 = 117.5km/h

18)a)18
b)18x4 =72
72 +6=78
1X->78
3X>78 x 3= 234

Page 4
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